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* 2 irreducible components of dim¢ = 0, with total 34 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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1.
I = (—u 44+ 4+ b—u, —u*+ud04. - 4a+1, u32—2u3 4. . —4u+1)
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ag = u3 20u29+-~+3u—1
—u? 4 —u+1
ag = 20u29+ 4+ 3u—1
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u3! — 5u30 — 77u?® + 93u?® + 654u>" — 766u® — 3221u?5 +
3695u2* + 10154u?® — 11648u?? — 21262u2' + 25364120 + 2939409 — 39216u'8 —
24813u'” 4 43171u'® + 8234u'® — 326961 + 6950u'3 + 15056u'2 — 10454utt —
21000 4 569612 — 1812u® — 1168w + 978u® — 182u® — T2u* + 86u® — 38u? + 13u — 19



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 Wt —120—4
Ca u*? + 150 + -+ 152u + 16
C3,C4,C9 U32+2u31+"'+4u+1
€10, C11
Cs5, Cg, C8 w2 —3u 4+ —Bu—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1,7 Y32 — 15y ... — 152y + 16
C2 Y32 4y 4. — 2848y + 256
C3,C4,C9 y32_42y31_~_..__4y+1
€10, C11
C5,C6,y C8 Y2 =29yt o~ Ty 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.932935 + 0.3004951
a= 0.221529 — 0.2450311
b = —0.566090 — 0.6394141

—2.01989 + 4.865231

—15.1954 — 6.81221

u = —0.932935 — 0.3004951
a= 0.221529 + 0.2450311
b = —0.566090 + 0.6394141

—2.01989 — 4.865231

—15.1954 + 6.81221

uw=0.946587 + 0.2311961
a= 0.96950 — 1.139981
b= —1.46374 + 0.525541

—4.86072 — 2.905431

—17.9793 + 3.56801

uw=0.946587 — 0.2311961
a= 0.96950 + 1.139981
b= —1.46374 — 0.525541

—4.86072 + 2.905431

—17.9793 — 3.56801

u = —0.994935 + 0.3775731
a = —0.478871 — 1.1647101
b= 1.158740 + 0.4115671

—7.38074 + 8.767741

—18.7396 — 7.05461

u = —0.994935 — 0.3775731
a = —0.478871 + 1.1647101
b= 1.158740 — 0.4115671

—7.38074 — 8.767741

—18.7396 + 7.05461

u = —0.910087 + 0.140122T
a= 0.945898 + 0.5734301
b= 0.426810 + 0.5364031

—3.85845 + 0.522371

—20.0729 — 1.66531

uw = —0.910087 — 0.1401221
a= 0.945898 — 0.5734301

—3.85845 — 0.522371

—20.0729 + 1.66531

b= 0.426810 — 0.5364031

u = —1.21444

a = —0.504163 —11.2682 —22.0990

b= 1.45498

uw=0.588921 + 0.4859551

a = —1.26657 + 1.042131 —4.95979 + 1.695591 | —17.9188 4 0.01781

b = —0.886632 + 0.3094551




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u=0.588921 — 0.4859551
a = —1.26657 — 1.042131
b= —0.886632 — 0.3094551

—4.95979 — 1.695591

—17.9188 — 0.01781

u= 0.718238 + 0.2259521
a = —0.459114 — 0.0054711
b= 0.496105 — 0.2649181

—0.558920 — 0.4749381

—11.62959 + 1.277731

u= 0.718238 — 0.2259521
a = —0.459114 + 0.0054711
b= 0.496105 + 0.2649181

—0.558920 + 0.4749381

—11.62959 — 1.277731

u= 0.187060 + 0.6213551
a = —0.85945 4 1.474861
b= —1.011920 + 0.1690071

—3.74023 — 5.389121

—14.5723 + 5.70531

u = 0.187060 — 0.6213551
a = —0.85945 — 1.474861
b= —1.011920 — 0.1690071

—3.74023 + 5.389121

—14.5723 — 5.70531

u= 0.109732 4 0.5028581
a = —0.133670 — 0.9485221
b= 0.000513 + 0.3451691

1.17199 — 2.122581

—8.07273 4+ 5.179721

u= 0.109732 — 0.5028581
a = —0.133670 + 0.9485221

1.17199 + 2.122581

—8.07273 — 5.179721

b= 0.000513 — 0.3451691

u = —1.53142

a= 0.299106 —11.6098 —22.5450
b= 1.47350

u = —0.130280 + 0.3632951
a = 1.12950 4 2.356291
b= 0.957149 + 0.1201571

—1.55433 + 0.809521

—9.54426 — 1.408791

u = —0.130280 — 0.3632951
a= 1.12950 — 2.356291
b= 0.957149 — 0.1201571

—1.55433 — 0.809521

—9.54426 + 1.408791




Solutions to I V—1(vol + /—1CS) Cusp shape
u = —1.65686 + 0.039531
a= 1.168620 + 0.4853391 | —8.99808 + 1.321957 0
b= 1.98443 + 0.528431
u = —1.65686 — 0.039531
a= 1.168620 — 0.485339] | —8.99808 — 1.321957 0
b= 1.98443 — 0.528431
u = 0.322365
a = —0.569030 —0.607216 —16.6590
b= 0.332706
u=1.69979 + 0.040321
a = —0.740305 — 0.4502791 | —13.16730 — 1.261201 0
b= —1.60526 — 0.3143171
u = 1.69979 — 0.040321
a = —0.740305 + 0.4502791 | —13.16730 + 1.261201 0
b= —1.60526 + 0.314311
u = 1.70039 + 0.076381
a = —1.024980 + 0.6589597 | —11.32620 — 6.337171 0
b= —1.73315 + 0.646811
u= 1.70039 — 0.076381
a = —1.024980 — 0.6589597 | —11.32620 + 6.337171 0
b= —1.73315 — 0.646811
u = —1.70563 + 0.059381
a = —3.73701 — 1.614591 —14.2827 4 4.05371 0
b= —6.32266 — 2.625941
u = —1.70563 — 0.059381
a = —3.73701 + 1.614591 —14.2827 — 4.05371 0
b= —6.32266 + 2.625941
U 1.71578 + 0.101047
a= 2.85853 — 1.609407 —16.9357 — 10.69817 0
b 4.90243 — 2.630657




Solutions to I7*

V=1 (vol + v/=1C5)

Cusp shape

1.71578 — 0.101041
2.85853 + 1.609401
4.90243 + 2.630651

—16.9357 + 10.69811

1.75198
3.58689
6.06538

17.6150




(i) Arc colorings

az =

ag =

ag =

ag =

ar

ag =

as
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(ii) Obstruction class =1

(iii) Cusp Shapes = —15

b+u, a+u+1, u2+u—1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
C1,C2,C7 u
2
C3,Cq u—u—1
Cs, Cg (u — 1)2
cg 1)?
(u+1)
2
C9, €10, C11 u+u—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C7 92
€3, C4, Cy y?—3y+1
€10, C11
2
Cs5,Co, C8 (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

0.618034

= —1.61803 —2.63189 —15.0000
—0.618034

—1.61803

= 0.618034 —10.5276 —15.0000
= 1.61803

>~ Q@ 2|l & =
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1, ¢7 w?(ud? +udt 4~ 12u — 4)
C2 w?(u3? + 1503 + -+ 4 152u + 16)
C3,Cy (u? —u— 1) + 203 + -+ du+1)
Cs, Co (u—1)*(u*? = 3u* 4+ —5u—1)
s (u+ 1D (W = 3u* 4+ —5u—1)
€9, €10, C11 (u? +u—1)(u*? 4+ 20> - du 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,er y?(y*? — 15931 + .- — 152y + 16)
C2 Y2 (y*2 4+ y3 + - — 2848y + 256)
C3,C4,Co (y2_3y+1)(y32_42y31+_”_4y+1)
€10, €11
Cs, Cg, C8 ((yfl)Q)(ydz *29y31 +77y+1)
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